HW Review



7. A radar operator on a ship discovers a large sunken vessel lying
parallel to the ocean surtace, 200 m directly below the -«lnp The
length of the vessel is a clue to which wreck has been found. The
radar operator measures the angles of depression to the front and back
of the sunken vessel to be 56” and 62°. How long, to the nearest

[Lllfh of a metre, is the sunken vessel?
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Brendan and Diana plan to climb the <liff ar Dry Island Buffalo Jump,
Alberta. They need to know the height of the dimb betore they start.
Brendan stands at point B, as shown in the diagram. He uses a clinomerer
to determine £ ABC, the angle of elevation to the top of the cliff. Then
he estimates /2 CBD, the angle between the base of the cliff, himself, and

Diana, who is itanding at point D). Diana estimates /7 CDBE, the angh:
berween the base of the diff, herself, and Brendan.

Determine the height of the cliff to the nearest metre.
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In Summary

Koy dea SOV cAX TOA
¢ The une law, the cosine law, the primary tngonometnc ratios, and the
sum of angles in a triangle may all be useful when sohing problems that
can be modelled using acute triangles.
Need to Know
+ To dede whether you need to use the sine law or the cosine law,
consider the information given about the tnangle and the measurement
to b determined.
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ﬂ ¢ Drawing a clearly labelled diagram makes it easier 1o select a strategy *
for sohang a problem.




/'311\ Homwork/

Do p. 147-149 - #1-6, 8-12, 14 %



